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ANSWER KEY
ALLOTTED MARKS : 90 Maximum marks to be-awarded: B9
PART- |
1. Choose: the correct answer, { one mark each): 4xi=14

La #wdfEs 2.c®wW  3oa BEETR 40 T 5 bowE 6 oc BT
7.b. g Boa A 9. ¢. FER 10,4 TFEE 1L b FEEH
12 b F T 138 TEECTR 14, & WSO
PART - Il

SECTION -1
Answer any three of the following: Ixd=h
{ Correct Sloks or summary in English or Tamil to be given 2 marks cach)
15, 7 A B . ;e ) (lesson 1 sloka 9)

16, TEAEA. ..., waieeA | 1 { lesson 1 sloka - 5}
17, s i, i wfer, g, Prgie L) (lesson - 5 sloka - 5)

18 TeEem W L HET 1) { lesson 11 -sloka - B)
SECTION - 2
ANSWER ANY TWO OF THE FOLLOWING: Zx2=4

{ Correct answer in Sanskrit or English or Tamil to be given 2 marks each]
1o T e, S EEE )
20, M T AR

21, T T g A AR |
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SECTION -3
=T EEm: | (Gramrmae) Answer any seven. Tx2=14
22. Meanings . :

2% -Son b, T - Youth
23, Write yes or No
a.No b Yes
24, 7 | Combing)
P 1 o
25, = Rresd gea (Splic)
a7 4 Wi b, s
26. Tl & | oppusite)
3, e b. WA
27, TEFAEEH (| Synonyms)
a. A b, o=
28, Frssmrt 7@ ( il | the blanks)
a. Tl b, T
20, #omE: (Compound)
s WEFRR b ETE
30, T { match the following)
. TEiETEE: bowh R Jd T
PART -1l

SECTION - 1
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Answer any two Zxd=H
( correct answer with shloka and explanation in Sansknit or English or Temil 4 marks
withour shlokas 3 marks to be given )
31, AT e ¥ TN | ( lesson 1, shloka - 4]
12, TEAEERE om0 TR | { lesson- 1, shioka - 8)
33 ner: & R ) e T T 00 ( lesson- 5, shioka - 8)
34, T HA0- e HET: ) ( Jesson- 11, shioka - 7)
SECTION -2
Answer any two 2x4=5
{ Correct answer in English or Tamil explanation with Sanskrit quotations 4 miarks,
without Sanskrit quotations 3marks given )
35, TeATE e R AR T AT T TR A
Jﬁ.ﬂﬂmmmﬂﬂ?ﬁ:ﬂ!ﬁﬁ:.mw“ém-aﬂh ------- i T
37, TR, TR —mmmmmeme T WA

38 waTah: EEE , W, SO W I & g s |

SECTION -3
w3 v 1 Decline the following, 3na=12
39, 99 -9 TH g lor MG (W) -/ 7 W ormg( Ay W F WR
wrg #9 fea | Conjugate any two.
40.9 -V T W ) 4L- W T T

42,07 —A%y Wr W 43 W -ww w5
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L

- -

BART - IV
wiaert T BEE | Answers in detail. Ixb=18
44, (Shlokas with Sanskrit or English or Tamil explanation 5 12 marks.
Without shlokas 4 1/2 marks.)
2. Correct explanation of 3 shlokas from lessen - 1 s T
b, Correct explanation of 3 shlokas from lesson - 11 FEFAT
45, Sanskrit quotations with English or Tamil explanation 5 1/2 marks.
Without Sanskrit quotations 4 1/2 marks)

o, w e wee | e T e e | e A | A WO A | T A S
W A | 7 T T e e |

b, S ke A L €
46, a Translate the shlokas in English or Tamil

. There is no bone; there is no head; there is arm, there are no fingers, there are no leer
which hugs body tight. Guess what? The answer is ~Shirt.

it, Satyam - Truth:-

When weighed in a scale a thousand Ashwamedha sacrifices and Truth. Truth alone excels
thousand Ashwamedha sacrifices.

b. Passage translation either in English or Tamil full marks to be given.

47, 9= ( Comprehension), Gxl=h
1, FERTTEE: g T e S

2. FF: FEOEE T e |

3% e, T e TS 3 |
4.'m!mmmmwaﬂmswﬁwmwmmﬁzqsﬁﬂm?'ﬁ1
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5. ""i;&*m‘dﬁ'ﬁﬂ:mﬁ#.ﬂﬁﬁ? ﬂﬁz;iﬁﬂﬂﬁmmmﬁlﬁ:ﬁrzﬁﬁﬂﬂ-"ﬁn

%. Suitahle heading for this paragraph.
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